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BE RERZ Bd
ke ROREE EfRE  EAEE  BARY% REEA  REEE  REES it
FEn FEn FEn FEn FiEn ThEn FiEn FEn TéEn
R-EEZEMA-A 40482 104,441 36,951 1,599 6,150 300481 449622 20041 510,345
EfEMEE - = (11,453) = = £ (11,453) = (11,453)
HEARDERRFEEREL - = 28 = = < 2 < 28
ARBRRARIZ
FUERFER - - (11,425) - - - (11,425) s (11,425)
ERRERE - - - = - £ - (20.241)  (20,241)
REfRET ABERE - = 2,883 = = 2 2,883 = 2,883
EE4R - - - = - 24,832 24,832 = 24,832
BRATERE - - - - - (8,096) (8,096) s (8,096)
BERERE - L - = - (4,048) (4,048) 4,048 -
R-ZEME=A=1-R
R-ZZMEBA-A 40482 104,441 28,409 1,509 615 313169 453768 4048 498,298
EEEHTE (i) - = (3,307) = - = (3,307) & (3,307)
REEREE 2B R - - (358) - - 358 - e -
ARBRRABIZ
FUERFER - - (3,665) - - 358 (3,307) s (3,307)
ERRERE - - - - - - - (4,048) (4,048)
REGGRETAELHE - - 1,529 - - = 1,529 s 1,529
EE4R - - - - - 30,766 30,766 e 30,766
ERATERE - L - = - (2,024) (2,024) s (2,024)
BEABRE - - - - - (10,1200 (10,120) 10,120 -
R-EERE=f=1-0 40,482 104,441 26,273 1,599 615 332,149 470,612 10,420 521,214
BATRERE:
ARFARMBAT 40482 104,441 26,273 1,599 6,150 349578 488,041 10,120 538,643
Beid - - - = - (17429) (17429 - (17,429)
R-EERE=A=1-A 40,482 104,441 26,273 1,509 615 332,149 470612 10,120 521,214
ARFARKBLT 40482 104,441 28,409 1,599 6,150 313344 453,943 4048 498473
BeEDd - - - - - (175) (175) - (175)
R-ZEME=R=1-R 40482 104,441 28,409 1,599 615 313169 453768 4048 498,298




